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SECTION - A 10 x 2 = 20
VERY SHORT ANSWER TYPE QUESTIONS
Attempt ALL questions, Each question carries 2 marks.
Find the equation of the circle having the line joining (1, 2, (4, 5) as a diameter.

Find the equation of the sphere that passes through the point (4, 3, — 1) and having
its centre (3, 8, 1).

Find the equation of the tangent to the parabola y° = 16x inclined at 60° to the
X-axis.

Find the product of lengths of the perpendiculars from any point on the hyperbola
“/16 - },2{; 8 = [ to1ls assymptotes.,

Find the nth derivative of log (42 — 9).

Evaluate I l,,
5=2x" +4x
1
Evaluate
'[ 1 +sin 2x
- ¥t _ 502
Evaluatej et dx.

y Sin” x +cos” x
Find the area cut off’ betweenx=0and x=4 — ",

Find the order of the differential equation obtained by eliminating the arbitrary
constants b and ¢ fromxy = ee" + be "+ x.

SECTION - B 5x4=20

SHORT ANSWER TYPE QUESTIONS
Attempt any 5 questions. Fach question carries 4 marks.

Show that the area of the triangle formed by the two tangents from (x,, y,) to the
3/2

circlex” 4+ 17 4 2gx | 2fp + ¢ = 0 and the chord of contact is - }—“—S---- where r is the

T 11

radius of the circle.
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Show that the common tangents to the circle 2x” +2)° =a” and the parabola

= dax intersect at the focus of the parabola 3 = — dax.

Show that the locus of p{:lle:; of chords of the alhpse — -;? 1 which subtend a
o’

g, L3
right angle at the centre of the ellipse is % + Jz;q = 55 - EIF'

If PSP, QSQ are two perpendicular focal chords of a conic then show that
1

——4-—=—j5-a constant.

i o QQ’

Ewvaluate | xSin” ! x d.

Solve (37 — 2x3) dx + (2xy — XY dy=0.

dy y_ ¥V
Solve ¢ 24 I E_?'

SECTION-C 5 x 7 =35
LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question caimies 7 marks.

Show that the circles x +3° —dx — 6y —12=0, ¥ +)" + 6x+ 18y + 26 = 0 touch
each other. Find the point of contact and the equation of the tangent at the point of
contact.

Find the equation of the circle cutting orthogonally the circles
X4y -8 —2y+16=0,x +)" —4x—4y -1 =0 and passing through the point (1, 1).

Find the equalion of the parabola whose focus is (3, 5) and vertex is (1, 3).
If y=Tan ' xthen show that (1 + )y, ., + (2n+2)xy, , , +a(m+1)y,=0

1
Jecosx+4dsiny+6

Lvaluate j

A/l

Evaluate I % a’x

sin x -‘-C-DSI

) . . ) dx :
Using Simpson’s rule to approximate the integral J- l——:x withn=4.
1



